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NOTE: There are thres sections of this paper, A, 8, & C. Carefully read the instructions for each section and atlempt zkcordmgly Allempt
all questions of Section - (A) and relum it to the superintendent within the given lime.

Time : 20 Mins, , ~ Section "A" (Objective) S Marks ; 15
Note: Use this sheet for this section. No. mark will be awarded for culling, erasing of over writing. o
Q.1  Insertthe correct option (a, b, ¢, d) In the empty box opposite to each part. o l
) The matrix [0 0] is ! - . v a ‘
00 i .7 _ , :
(a)  Identify matrix w.r.l, addition {b)  Row malrix :
. {c}  Column malrix - ' : {(d)  Diagonal matrix
@) Inasquare matix if Al = A, then malrix A is called -wmsemcsones malrix, : ' B:l
. (a)  Diagonal ()  Symmelric ~ (e} Scalay . (d) Identity . e
(1) VBXVE =i S | T o]
(8 & f (b') 5i S (T T N S
(iv) . Characeristic of log (56.237) i L AV - o | C. i
@ -2 b b2 @01 @ 4 -
W x = log, 8, then x = : T [EJ
) 3 B (Y S ) 4 o 16 :
() (@D = , ' E@
‘ @ o'+ b 1 3a%ba 3ab? . : ) a®-+b’—3a’b-3ab? .
) a'+b'-3a’b: 3ab’ : o (@  a®+b’3a’b—3ab? '
(i) " The conjugate of (24 f3) 5 - - o s ‘ ’ ) E_]
(@ (-2443) - b (2-43) © (2-v3) (@)  Noneoflhese -
(vil)  Factors of (X* + X—=2) 88 e v smiconriie BT o
qa) (x-N(x1) B} {x- 1)(x ?) () (-2t @ (x=2)(x-2) _
() HCF.of (@’ -b*) and (a* + ab+b2) is - : : " o I LY l
(@ (a+b) M al+ ab | b2 &) a'-ab+b? @ fa-b)
t ,S|mpI|fed form of (le 1= N 'yy J
e A e 2 e A e B
SRyt X*Y R A ' Xy S
) The point P(2.4) is localed it i ione SRR P PR o [ O |
- (a)  Quadrant} (0) Quadrant } (t) Quadrant Il " ' {8)  QuadrantlV L a )
i} The mid point of the segment LM, where L(1, 2) and M(3, B)i§ —eemvermrcrnnn ' : ' gic
fay (48 b) (4 4) BRI IR ) - {28 e
{xii* * How many acule angles are there in the acule angle lrlangln'? . - . Lfl_ J '
@ 3 ) b 2 N i € 1 _ (¢)  Vary from lnangle to tiangle o
W) The length-of sides of BRI TCILE T —— S l:b:J
" @ Difeem ® Same . () Paralel [ Noneofthese

“wv)  X<5 means: » ; ' - |Q I

(3 x<Borx=5 (b)) x>8orx=5 ¢y x<5ony - ) x=50only
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(A—B)'=A'~B"ft/_/f.~.r.bﬁnﬁ=1ld 1' ZENr l 2

*v.'."?—‘b‘u"r‘:\,l »ZJT ¥ Zl =23 J_.IZ‘ R ’.}7 ”V) » _U(/(J’ 'Jd({l'”' ﬂ 08)(624) (III)

| @' -b' =(a-bj(a’ +ab+b)) S ek )

_ywabibcacas :~2 st a+btc 5 *u’dfr,lv Jdatab s d (vi)
| 1 3 .

“udeted g xt- g dex e 2/! - (vil)

e F e e =B G LS I B8 il xe 2o /gu"uwuw( el oA i)
_V:/l",,ly

‘,’7"/.{' 4 | 8 . A.B.t,.,._v..‘i._ .
L '\x12 X15 x13 %16/ (”,‘)

- .)’)L"‘f”._f., )‘ I 1»5 ( K 2% 3¢ \?XJ + Xj)r (X)
: N I = AT {xi)

‘ : LAY =22 ()
Q.2  Wiile a shori answer of any NINE of the following palls Each parl carries equal marks,
2 3

and B :l4 1J.
o310

. o Z
(i) Simplify | \l” Od)(?Zd) vitth the halp of logrithem. (iv) et £ 4 -3 ang Z, = 2- 30 then Find 7_: .

3 4} , 1
(i) ar A= 1 2] l thenfind A ', - (i) Show thal (A -B) = A" B' where A :{1 B

(vy  Provelhat a’ -b' . (a bya" rabib’)
(¥ Find tho vaiug of a°  b* +¢’. when a+bvc=5 and ab v bo ca= 2

. . 1 3 ) 1
{vil) if X x ’fé.titen tind the value of X —F

iy HGF. and LG MW of wo poiynomiais are x--2 and x* 1 3x? ~6x 8 respectively. If one pelynomial is
: %"+ 2x - 8. Find the second polynomial, .

4 8 8 4y g
.(ix), ity Lx ¥2 %45 x:3 X.'IT(;J / |

{x} Find the square 1ot of (x* - 2x" +3x" - 267 4 x* ) by dwision method.
{x) Solve the radical equation Ax 1. 311 («ii) Draw the graph of lhe equation ¥ — 2x 42

B 4y B - .
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. NOTE : Attempt any three questions, Each question carries equal marks.
Use the distance formuia to show that the pomnts A{2, 3), B8 1) and C{0, 17) are the vertices of an isosceles lnangle
Prove hat if in the correspondence of two right angleti triangles, the hypotenUSﬂ and one side of ¢ne are congruent to
the hypotenuse ang the wrrespondum side of the ather, then the triungles are congruent.
Q.5 Prove that the line segment. joring the mid peints of two sides of a triangle, is paraliel to the third side and is equal (0
one half of ils length.
Q.0 Conslruct AABC, when ||‘|;&6 35cm. n‘.f}h ~6cm amd o, G 75
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